Al & ol & AF S E M A
2012E & =04 L8|y
A:100 KIgAISL
2110 KA
5 111 BEA (B4 &)
T 0 & 24 rSTEL=PNEEN timES
z 386,100,000 363,800,000 22,300,000
100 Xl A 2 38,560,094 34,310,449 4,249,645
110 X2 Al 38,560,004 34,310,449 4,249,645
11 ZEA 37,923,494 33,756,449 4,167,045
111-08 Z0IAl 543,660 520,000 23,660
[ s ] 543,660 520,000 23,660
<H=RD > 543,660 520,000 23,660
O &= (M2 D) 2502 * 860,000 215,000
ORSE(MSM) 328,660
Mo BER 261,700
== 4,502 * 24,500A) Cf 110,250
Soix o 3,0002 * 13, 150l CH 39,450
THOIA X2 50,0002 * 2,24000 4 112,000
—gopse 72,0008 * 9304 @] 66,960
111-04 THAHA] 6,128,000 5,354,400 773,600
[ 2orsid ] 6,128,000 5,354,400 773,600
< HS > 6,128,000 5,354,400 773,600
OEXNZ (M=) 1,100,000,000,0008 * 0.268% 2,948,000
OFe= (M) 760,000,000,0002! * 0.228% 1,732,800
OAZZ=2 (M2 540,000,000,0002 * 0.268% 1,447,200
111-05 Xt S Xt Al 14,636,834 13,386,249 1,250,585
[ s ] 14,636,834 13,386,249 1,250,585
<MD > 14,636,834 13,386,249 1,250,585
SEEVISAVEN 212,808 * 27,996CH 5,957,548
OSESNET (M) 61,7502 * 1,980CH 122,265
SEENIS AN 27,0708 * 13,4740 364,741
ONEIN BEE (M) 140,000,002 * 122 1,680,000
024+ BE2(HM2D) 542,690,008 * 122 6,512,280
111-07 EHHHAHIAl 6,315,000 6,315,000 0
[ 2ersi ] 6,315,000 6,315,000 0
<H2B > 6,315,000 6,315,000 0
ORLHNRD) 524,560,008 * 122 6,294,720
O &H M) 1,690,0002 * 122 20,280
111-09 XIZASAl 10,300,000 8, 180,800 2,119,200




100 XA«

.
110 X 9HA
S 111 HEA CERED
X282 01 4 o 1 & 0 ooy HnE2
[ Letg|H ] 10,300,000 8,180,800 2,119,200
< NS > 10,300,000 8,180,800 2,119,200
OASZ(H2D) 9,700,000
—ASAHE 22,000,000,000& = 10/100 2,200,000
—golANE 50,000,000,000& = 10/100 5,000,000
—suzyas 25,000,000,00081 * 10/100 2,500,000
OZ=gIA=2(MB) 10,000,000,000& * 5/1,000 » 12& 600,000
13 Aty &2 636,600 554,000 82,600
113-01 AtyE &+ 636,600 554,000 82,600
[ Letg|H ] 636,600 554,000 82,600
< N2 > 636,600 554,000 82,600
OXLEE 22 (HMSD) 636,600,0008 * 14! 636,600
200 Ml2l=¢ 33,338,048 32,379,464 958,584
210 HAIE A2l 4] 6,423,815 7,457,145 A1,033,330
211 THAHR) CH 2] 194,161 193,753 408
211-01 2STUAAHE 23,000 31,500 8,500
[ Qus 23,000 31,500 A8,500
< M3 > 23,000 31,500 A8,500
O=eMA 202 (5 23,000
— =% 10,000,0002 * 50/100 5,000
- X 30,000,000& * 50/100 15,000
—J| Ef 6,000,000& = 50/100 3,000
211-02 2SMALL 2 171,161 162,253 8,908
[ 2Btal A ] 171,161 162,253 8,908
< NS > 171,161 162,253 8,908
ONSTALTHE (51T 72,925
—=3X 2,130,000,000& * 10/1,000 21,300
—H X 910,000,000& * 25/1,000 22,750
—=J| Et 464,000,0002 * 50/1,000 23,200
-2 2 227,000,000& * 25/1,000 5,675
OALMHE SAS BIE ABE 22 (2302T)
14,200,008 * 12! 14,200
OZ2KMHAMAUHS (S AICI AR D) 780,000,0002 * 25/1,000 19,500
O=H T AIZ22(H4W) 18,477,000& » 14 18,477




& 200 M+¢
2t 210 ZAHEA =
& 211 Matdtli=¢ (&9 ®M
Z.a.-8.5 Off &F oM & HE =0 AhoH HlwE2
OZ=YHUSE AIE2S(A4D) 30,050,000& = 14 30,050
OANsE ez (A&E=X) 100,000,000& * 10/1,000 1,000
Osgol SXsl2 SESATNE dUHS(sFn=0)
7,026,370 * 14 7,026
O=dol=Xs2 SAsSMSAEY AdUHE (st
4,433,000& » 14! 4,433
OANSIUHE2(Z=X)(SASEHI =)
700& = 30,000m = 1/100 210
OJIEt SRML dUHZ(HMSAEZE|AIRL) 3,340
—AFAMZ3S 360,000 * 13 360
—dMEHSE2 3 760,000 * 13 760
—tHE3l 620,000& * 13 620
—HOIE=ZE3 380,000& * 13 380
—=7g3 570,000& = 13l 570
—=doy 380,000& * 13l 380
—s+gs 270,000& * 13 270
212 HEE =Y 1,261,408 2,890,978 21,629,570
212-01 T 2ANES 203,576 196,406 7,170
[ et A ] 203,576 196,406 7,170
< NS> 203,576 196,406 7,170
OEX(AL D) 89,000& = 33,000m * 5/1,000 14,685
OBXE & &Y= (HL)
400,000 * 15,000m" = 25/1,000 150,000
Oss2to (A1) 9,900& * 1,000m" 9,900
OSEdsH (A1) 24,100& = 20CH = 50/100 241
OXlot22 (HA&Dt) 400& = 21,000m * 50/100 4,200
O (ALmM) 850& * 20,000m * 50/100 8,500
Os& (AL 1,250& * 1,4002 1,750
OJIEH(AE D) 65,000 * 22021 14,300
212-05 ANIZEALEZ 83,212 83,212 0
[ ZutslA ] 83,212 83,212 0
< NS> 83,212 83,212 0
O3&EANE MEZ(ZHELHSE) 83,212
—EX= 2,143,753,200& * 3.5/100 75,031
—dE= 409,088,600 * 2/100 8,181




09 e 0

200 NI2l+=¢

210 & HAL
212 NEE =Y

m
40
o
%0

B.g-2 Atoy 1 & 0f o o timES

212-07 AHB A 546,920 529,720 17,200
EEEEN 546,920 529,720 17,200
<H=RD > 546,920 529,720 17,200

044N 546,380

—JHol (Lt 312,760

= 3,0008 * 96,400 289,200

PNE 2,0008 * 4,540% 9,080

0121 0] 1,008 * 14,4802 14,480

—JHel (2 23,030

N 1,5008 * 14,1802 21,270

HAL 1,008 * 6602 660

01210l 5002 * 2,200 1,100

—cHAl 210,590

oz 2,5008 * 23,200 58,000

HA 1,5008 * 81,6202 122,430

- of2 8002 * 37,7002 30, 160

ORteI & 540

—ol2 1,008 * 4002 400

P 5002 * 1002 50

—0i 20| 3008 * 3002 90
212-08 JIEFA} 427,700 2,081,640| 1,653,940
[ s ] 427,700 2,081,640| 1,653,940
<HSB > 427,700 2,081,640|  ~1,653,940

OFAH 0 22 5,000

—OFH & 1,500

A 3002 * 1,000 300

sl 6002 * 2,000 1,200

—2y 3,000

HA 6002 * 4,000 2,400

sl 1,200 * 5002 600

—otele 50,0002 * 108l 500

OBAUR 50,0008 * 103l 500

OAHOIH BHaredof 9,000,008 * 11942 99,000




A 200 M2l%

210 ZATMSISY

8 212 AB24Y o) & 2l
Hop-8-2 skl & & o b oA Bz

OFZIIE(HMSANEIARL)

— XM= A

J

OEZEFZ(MSAIEZIAMRL)

—H=el A

—0to13
—ct0IE

b

>
e
e

I
0l0
ool

FAlE

) 40,0008 * 252

3,000& = 500& = 43| » 23]

— sty Ot A s 3,000& = 300 * 2& » 23]
OXg S¢S AMES (M=)
—4hat(4el) 45,0008 » 64 » 140
—&tar(5el) 55,0008 * 8& » 150€
—4tat(eel) 65,000& * 2& * 140
—AHRH(SE) 100,000 = 24 = 120
—O0FZHI3 5,000& * 6502
-394 10,000& * 202
— =Xt 3,000& = 100CH
OsJIH 2 MES(sEXED) 20,000& = 1,0002

100,000& = 12| 123
70,000& = 13 » 123
150,000& = 13 = 3&

70,000 23 » 8
50,000& = 23| * 8

150,000& = 13| ~ 6&
100,000& = 13 = 5&
400,000& * 18| * 53

70,000& * 12| » 12&
50,000& » 12| » 128
150,000& = 13| » 6&

OZLUHSHH RFUHAE & HASS(HMSALSRIARL)

5,000& = 162
20,000& * 162

30,000& * 163
30,000& * 163

1,000
15,600
12,000

3,600

149,750

37,800
66,000
18,200
24,000
3,250
200
300
20,000
2,490
1,200
840
450
1,920
1,120
800
3,400
900
500
2,000
2,340
840
600
900
2,860
80

320
480
480




200 NI2l+=¢
210 & HAL
212 NEE =Y

09 e 0

ra
)

[l
0

Z-8.3 Aot & Off Ak oK =
— et 1,500
o|e 30,0002 * 163] 480
AAR 102,0002 * 103 1,020
OMEHSZH(SAL2AIAIR L) 3,840
-5 80,0002 * 23| » 12 1,920
-Ho 60,0008 * 13 = 12& 720
—Hs2 200,000 * 13 * 68 1,200
O2& % AI22(ZAICIXQID) 50094 * 20,000 * 12& 120,000
213 2424 ¢ 1,405,705 1,317,497 88,208
213-01 ZX % 594,274 534,759 59,515
[ 2ets| A ] 594,274 534,759 59,515
< M2 > 594,274 534,759 59,515
OSIREANER(F 90,400
— 2K 29,500
- dol 50,0002 * 5007 25,000
[ ES, 30,0002 * 1507 4,500
— 29| 60,900
- 401 (15KI014) 350,000 * 1507 52,500
p/ESs 210,0008 * 407 8,400
OMe2A = 11,040
—-Hsg 8002 = 1,000  12€ 9,600
g e 8002 = 1002 » 12€ 960
-BSF 800! * 50AH * 12€ 480
ogdet HE 23,460
—-H=Es= 1,0008 = 6002 » 12€ 7,200
—JtE2 1,000 * 600AH * 122 7,200
—H=Exz= 5002 = 10024 * 12€ 600
—FUSES(=2 40080 * 600 * 12€ 2,880
—JIEt NEY 3002 * 3502 * 12& 1,260
—olA=Y 600 * 60021 * 12€ 4,320
ORQl 0Ig ¢33 2F(MOISEAIY) 5,200
—FUSESE22 1 40094 * 13,0002 5,200
ooz O [(MOFS 2 A 34,150




09 e 0

200 Al 2]
210 ZAE A<
213 4840

A Ol
s

=

Z.2-8-9 Aroy & A 0 Ak o =
—10E =401 3,00021 * 8,800% 26,400
—5d =220 50024 * 7,700 3,850
—5E0IL OIR o 30021 * 5,5002 1,650
—S40A S 1,50021 * 1,5002 2,250
OYLBHH S (MOIS = AL D) 200,000
— 190 SHS oS 200,000,0002! * 14 200,000
OAZ2I M 5IHID( 13,750
— a7 28,0008 * 25021 7,000
—gol(a5)eY 9,300%! * 60021 5,580
—EAHY 26,5002 * 4021 1,060
—SlMpIE 23 +48 5,5002 * 2021 110
OEXI0ISH = =2 (SAICIXHOI D)
1,5008 * 1,25024 * 128 22,500
ONExt SS(NSH 67,872
—MRsE 2,000 * 20024 + 128 4,800
—#As= 1,3008 * 15021 * 122 2,340
—0INSS 1,0008 * 85021 * 122 10,200
—gas= 1,0008 * 25021 * 122 3,000
—HYas 50,0008 * 7024 * 128 42,000
—Hges 1,0008 * 17021 * 122 2,040
~NEXM E25 W 7002 * 18021 * 122 1,512
—S=anwz 3008 * 55021 * 122 1,980
OALIHSZ(DSH 20,220
—MRsE 4,0008 * 1024 + 128 480
—S=0I™ ¥ SEAE 1,0002 * 602 * 128 720
~HYEE o i 50,0008 * 3024 * 128 18,000
-S=3 1% 5008 * 2021 * 122 120
—S=as 23 50080 * 10021 122 600
— A& EB A 2,5002 * 1024 * 128 300
ONEHSY(AENH 73,632
—EX(LoNUEEE 5008 * 5,500 * 128 33,000
~XH(LOHESE 7002 * 4,00024 * 128 33,600
—EX0t2 =olgl 8002 * 30021 * 122 2,880
—EX(LoHEE 1,4002 * 14021 * 122 2,352
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09 e 0

200 Hi2l4l
210 ZATH 2+
213 £ 424

i
£
o
0

E.2.8.-5 AtoH & Off Ak oK Hus2
—EX(Yopey 1,0008 = 802 » 12€ 960
—EX(YoHX2HA 1,0002 » 7021 = 128 840
OA=2 NEsY(AFSX=ED) 11,400
—A=2 22 HEs= 5002 * 1,200 » 12€ 7,200
—AH=3{IHAD 4,200
- 510t 20,0002 * 1024 » 12€ 2,400
- 4D 5,0008! * 302 » 12€ 1,800
OASHSE NRAMFY(ASXEY) 8,0002 * 80024 6,400
ORI 23 HSH(AZ2ell) 14,250
—FEN 22 600 * 2,50024 1,500
—olorol gz 10,0008 = 1502 1,500
— AL+ F 1,5002 = 7,500 11,250
213-02 MY I XIS E TS 471,693 493,000 A21,307
[ Lerg ] 471,693 493,000 ~21,307
< M2 > 471,693 493,000 A21,307
OMYI| M2l 85 Hil+=d(=s4H2F 1)
29091 * 1,626,5280H 471,693
213-03 MESELHEM L 150,000 100,000 50,000
[ 2et3 A ] 150,000 100,000 50,000
<MD > 150,000 100,000 50,000
OMEEE +H B (=SM422D) 100,000 * 1,500 150,000
213-04 JIEtH22 189,738 189,738 0
[ 2et3H ] 189,738 189,738 0
<MD > 189,738 189,738 0
SZ N2 &I JH ST AICIX QD) 12,750
— 510t 17,0008 * 7502 12,750
OS2 MD(ZAICIXRID) 44,000
—&D 10,0004 * 1,400 14,000
—&409 3,0002 = 10,0002 30,000
OUHEMSHIIZE MIS(SMHeZ ) 5,000& * 8,0007H 40,000
OMEHIIZ el =+2(SZAY L)
132 % 2,700kg * 30 * 12& 12,636
OUEHIIZ XMel =42 (SFAYL)
5,0002 * 200§ * 30 = 128 36,000




I 200 MIQIge
2 210 BAEALIY
g 213 2424 (St &)
& Of &k o & 0 aroY HRE
ORLXMeAE A2 +22(S3AIHL)
* 120,000kg * 282 * 12 44,352
214 At & ¢ 875,506 785,772 89,734
214-01 AMLIZF 2 Ak Q) 25,000 25,000 0
[ 2ers A ] 25,000 25,000 0
<MD > 25,000 25,000 0
OAIEZE MADA(SHUSD) 1,200 = 20,000kg 24,000
Ol galls GlzxE M S 1,000 * 1,000kg 1,000
214-02 R34 126,280 126,280 0
[ 2et3H ] 126,280 126,280 0
<MD > 126,280 126,280 0
O3EANME F=XHES (ZHEHsE)
3,200,000& * 43| = 0.1 1,280
OR4A FXE FXUR3( oI D) 2,000,0008 * 128 24,000
OLAMRBFXE 2210 )
25,250,0008 * 43 101,000
214-08 2@ At 42 722,226 632,492 89,734
[ 2et3 A ] 722,226 632,492 89,734
<MD > 722,226 632,492 89,734
O™ ZHl > (BAHA 545,376
—E XX 2H|(2o18 2,800 * 3,800% * 12% 127,680
—EXE2H (R 9,1602 3,800 * 12& 417,696
Ox2 L AR (A 176,850
—E XX 2H|(2o18 5009 * 1,500% = 12€ 9,000
—EXE2H (P2 3,700 = 1,500 * 12& 66,600
—AHLATH (B RL) 40,0008 » 169 » 12& 7,680
—UBEA A} 10,0004 * 1,600 16,000
— R CHA AL 15,0002 * 2,500 37,500
—gEs a2 40,070
BE 2t 3,4002 * 900Y 3,060
NEIZA 3,5002 * 180Y 630
NESPEEY 7,3002 * 600 4,380
fHy S 8,0008 * 4,000% 32,000
214-09 J|EfAI =2 2,000 2,000 0
[ 2LBt3H ] 2,000 2,000 0




09 e 0

200 Al2l==¢
210 FAIE M Q¢
214 N ==¢

o
£
o
0

g2 0l ey & 0 4 o HIRE2
< NS> 2,000 2,000 0
OXSse HLHE ABAEE A2 2 (SENSD)
1,000,000 * 24| 2,000
215 =Rz 673,035 659, 145 13,890
215-01 2u R+ 673,035 659, 145 13,890
[ LBtsH ] 673,035 659, 145 13,890
< M2 > 673,035 659, 145 13,890
OZMEs+ NE2(M2D) 491,100
—FSA 14,450,000,000& * 3/100 433,500
—SECHAAM 680,000,000 * 3/100 20,400
— KSR AE Al 790,000,000& * 3/100 23,700
—XNHEE =g 450,000,000& * 3/100 13,500
OZZAEE = WES(ALED) 19,617,000& = 30/100 5,885
OHANHHISLLIHS DES(SMBFD)
1,400,000,000& * 9/100 126,000
OEHSUAL OI&2A HEESR(SHAL D)
2,508 * 202 50
OSNBHLLD 2 2+R2(SHDD)
50,000,000 * 14] 50,000
216 Ol Xt 2,014,000 1,610,000 404,000
216-01 Z2OIZ0IX 2 2,014,000 1,610,000 404,000
[ 2es | 2,014,000 1,610,000 404,000
< NS> 2,014,000 1,610,000 404,000
OFJI0= (M=) 60,000,000,000& * 3.34% 2,004,000
ORSHS(H2D) 1,000,000,0002 * 1% 10,000
20 SAIH A2 4= 26,914,233 24,922,319 1,991,914
221 THAHOR 2E =2 3,520,000 10,000 3,510,000
221-01 MEtH 2 AS=2 = 20,000 10,000 10,000
[ 2etslA ] 20,000 10,000 10,000
< NS> 20,000 10,000 10,000
OZRMAN2 A% +23(3HD) 20,000
—=2 R M2 ASS 100,000,000 * 20/100 20,000
201-03 2R L N2 2212 3,500,000 0 3,500,000
[ 285 | 3,500,000 0 3,500,000
< ISt 3,500,000 0 3,500,000
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200 AIQl2gl

220 LAIE A2
221 TH&H0H 2t ==

o

40
o
0

g
0o

>
12

=
i
H
=2
[
12

Ol
M

S5 EX) (M
*

3,500,000,000&

14

3,500,000

, 125,888

23,500,000

, 374,112

22,125,888,000&

,125,888
,125,888

, 125,888

, 125,888

23,500,000
23,500,000

23,500,000

, 374,112
, 374,112

, 374,112

277,000

148,000

129,000

167,000,000& » 14

73,000,000&
37,000, 000&

277,000
277,000

277,000
167,000
73,000
37,000

148,000
148,000

148,000

129,000
129,000

129,000

9,000

329,000

/320,000

9,000
9,000

9,000
5,000
4,000

9,000
9,000

9,000

0
0

0

782,345

760,319

22,026

20,000,0008! * 1CH
4,000,0008 * 3CH

2,000,000& = 1CH

300,000& = 10CH

37,000
37,000

37,000
34,000
20,000
12,000
2,000
3,000
3,000

19,500
19,500

19,500

17,500
17,500

17,500

500,0008! * 2024

10,000
10,000

10,000

10,000

10,000
10,000

10,000

_11_




09 e 0

200 NI2l+=¢
220 SAI AL+

228 JIEt==¢

ooy Atoy rSTE]
228-03 DHENZ 377,240
EEEEN 377,240
<H=RD > 377,240
OJN=EE= DEHR(MOISZAID) 20,0002 * 621 * 128 1,440
OAMESIME /ot BENS(LRAAD) 200,008 * 102 2,000
OMYI| 28 I VB LU(SMSBD)
10,0002 * 6024 6,000
O1ZI8E ABOUH 918 AR BEHR(SMEZD)
10,0002 * 3024 3,000
OBATRY (IHHUS)DAP (SMEAD) 200,008 * 202 4,000
ORZY XNAIDAY 918 VAR (SMSHD) 5,000
— 18 DEAR (124 100,000 10,0002 * 3524 3,500
— 18 DEAR (124 500,0002) 500,002 * 321 1,500
ONESL Z2ly 9iu BEY2(SMBAD]) 500,008 * 221 1,000
OMAPE BB (REHE) 134,400
— X2t 10,0002 * 4021 * 122 48,000
—0lote! 60,0008 * 1221 * 122 86,400
ONEX S= BEHR(DEXF!) 61,200
—ARE= T@ 50,0002 * 521 * 128 3,000
—sgs= xo 10,0002 * 1021 * 122 12,000
—0ME= Xo 10,0008 * 124 * 122 1,200
— A D12 10,0002 * 302 * 122 36,000
—2ArE= T 250,00021 * 124 * 122 3,000
—Mxs= X0 250,008 * 224 * 128 6,000
OALI BEHR(REHE ) 6,000
— A D12 2 50,0002 * 1024 * 122 6,000
OZFHA 9ot BE2 2L (DEHE) 152,000
—FHA Y DEIR (12 32,0008)
32,0008 * 25024 * 122 96,000
—ZEI e BEIR (124 40,0002
40,0002 * 11021 * 122 52,800
—ZE3 e BER (121 50,0002 50,0002 * 6421 3,200
OAZEXE HIIE N DRSS
50,0002 * 221 * 128 1,200
228-04 DHESUOIH LTS 91,300




200 NI2l+=¢
220 SAI AL+

228 JIEt==¢

09 e 0

o
£
o
0

g-2-g-3 Off &t o4 B & Off A A HlnsS2Z
[ 23 ] 91,300 91,300 0
< NS> 91,300 91,300 0
OHAUESHE BAS(=UMETN )
1,000,000& =+ 102 10,000
OSAMIXEN 25 HESIE WAF (2501
500,000& * 3 1,500
OStHHILI2E & AL 28 BHAZ(2st0=)
500,000& = 2 1,000
OSCEX Xt HEF (NS ) 5,400
—ZMxel 1,000,000& * 5A 5,000
— A& Hel 200,000& = 2 400
OYHIBxte HES(nS#HE ) 200,000& = 40 8,000
ORLE2Y Hazg(nsad ) 400,000& * 32 * 128 14,400
OA=HAL OIHAMS(ASXEHY) 5,000,000& * 10 50,000
Oooratedda Haigh HES(EAALD)
500,000& = 2 1,000
228-09 12l+=¢ 266,805 266,319 486
[ 23 ] 266,805 266,319 486
< NS> 266,805 266,319 486
OSUZEZTZNMEAY EOXDIE s+ AZA 2323 (N
H3HE) 5,286,000& * 14| 5,286
O HHXIS ZaeX o2d NES(A22el)
100,000& = 109€ 1,000
OsJIH &al+el 2EUH(sE=XZ) 250,000& =+ 1203 30,000
OQHIINEZ(HSAIEZRIARL)
=3 S 135,000& » 13A = 123 21,060
O=ZAEZ(HSAIEZLIANRL)
HLAES & 27,0008 » 24 = 128 648
OJlet E=¢ 208,811,000& = 14 208,811
229 AHtd =g 200,000 175,000 25,000
229-01 At == 200,000 175,000 25,000
[ L83 ] 200,000 175,000 25,000
< NS> 200,000 175,000 25,000
OXNHEE = (M) 200,000,000 * 1Al 200,000
300 A& w2 Al 180,047,202 168,879,220 11,167,982
310 X uw 2 Al 180,047,202 168,879,220 11,167,982
311 XN n2Al 180,047,202 168,879,220 11,167,982
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f: 300 AIZWEA
310 A& w2 Al

e 0x

& 311 NYnEA (St & )
I .2 Ofl &t L=t G Off AFOH Hus2

311-01 ES DA 175,892,202 164,724,220 11,167,982

[ 2et3H ] 175,892,202 164,724,220 11,167,982

< JIEZAE > 175,892,202 164,724,220 11,167,982
OESEn2A 172,951,202,0002 172,951,202
OcL2ENE 2,941,000,000% 2,941,000

311-03 2A WA 2,155,000 2,155,000 0

[ 2Bt3 A ] 2,155,000 2,155,000 0

< JIE2AE > 2,155,000 2,155,000 0
O2AW2A 2,155,000,000& 2,155,000

311-04 RS DAl 2,000,000 2,000,000 0

[ 2et3 A ] 2,000,000 2,000,000 0

< JIE2AE > 2,000,000 2,000,000 0
ORSAtNEA 2,000,000,000% 2,000,000

400 ZHLNESLWILES 7,358,000 7,358,000 0

420 LA 2 7,358,000 7,358,000 0

@21 RS 7,358,000 7,358,000 0

21-01 MBEES 7,358,000 7,358,000 0

[ Letg 2 ] 7,358,000 7,358,000 0

< JIE2AE > 7,358,000 7,358,000 0
OFINIUR<E=FSF= 7,358,000,0002 7,358,000

2x3 123,796,656 117,872,867 5,923,789

0 2DEX3E 94,823, 169 90,525,359 4,297,810

511 2NEX3E 94,823, 169 90,525,359 4,297,810

511-01 2DEX3 67,292,177 60,477,590 6,814,587

[ 2et3 A ] 67,292,177 60,477,590 6,814,587

< JIEZAE > 67,292,177 60,477,590 6,814,587
OZM&4dstE 532,49
— SO0 AAT =Y 3,360,000 * 14| 3,360
—-0I2J1g SHAMY 37,530,0008 * 14l 37,530
—ALBI =S AR K 50,000,000 * 14 50,000
—ABIEDIY S LXte 208,832,000 * 14| 208,832
—NBIZSIAAIE HAX 92,495,0008 * 14l 92,495
—XNASSH LRl 140,279,000 * 14| 140,279
Osg)ll=d 28,300
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—ANZTFHEFEEANAH S UM (NS AESSEEA
AETIR) 21,312,000& * 14 21,312
—ANZHHERHAHARS(NLHEISHEEANLL )
1,708,000& * 14 1,708
—dEssE2 g2 (F2s sz gl
H2d) 5,280,000& * 14 5,280
OXXIHE It 8,000
—ZHSH LN X2 (LH2HSHIoH KX
8,000,000 * 14 8,000
O A 40,000
—1NSEXHI|FLEDU M ALY 40,000,000& = 14 40,000
OAr2l = X 1t 19,279,574
—JhAREE = 20IAHE 48,101,000& 14 48,101
—33=A EMAMA 5,500,000& * 14 5,500
— 2= MEEEHZAH(NESAH) 349,598,000% * 14 349,598
— 2= MESHZH(MASAH) 10,677,698,0008 * 14 10,677,698
— 2 ZHELHEAZ(FAHSO) 2,408,181,000& * 14 2,408, 181
— WML S (HAFMSAH)  71,875,0008 * 14 71,875
—2ASSXXZ A 91,339,000& * 14! 91,339
—SOHEZHQ FEIHEAS 5,700,000& * 14 5,700
—C g HOOtsSKA EXSHXH 2,000,000 = 14! 2,000
—SEEXNGY=X dEHAHML 110,250,000& » 14 110,250
— A EXNSSAEIA BRI 39,181,000& * 14| 39,181
—AEAEHREZ HEHAHL LR 11,760,000 » 14! 11,760
—NE2ZAY 1,211,503,000& = 14 1,211,503
—XHEAZ X 97,671,000 * 14| 97,671
—Z0=EX 462,446,000 * 14! 462,446
—Z0Hots MEX= 126, 164,000& = 14 126, 164
— LSS AEHIXH 2,426,000& = 14| 2,426
—ZHAEEDIIF W 1,393,000& * 14 1,393
— A=A LAtel XS 44,010,000& » 14 44,010
—ZHIMEAL JsEY 95,500,000& * 14! 95,500
—Z0He o= XA 1,235,550,000& * 14l 1,235,550
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—ZoHel oZHIXI& 114,788,000& » 14 114,788
—ZOHQIXtH SHHIXI& 1,870,000& * 14 1,870
—Z0H HHEELOIXH A 102,608,000& * 14 102,608
—HHASSXA(HII2Y) 632,727,000& = 14! 632,727
—JRAREAA 313,264,000& * 14 313,264
— KNS AMSIMHIA FRALY 262,852,000& = 14! 262,852
— NS GEHEH2EHI X 188,299,000& * 14l 188,299
—BHHIMEAIE D2 122,640,000& = 14 122,640
—SHHIMEAIL AHEIRS 106,450,000 * 14 106,450
— Bt MEAE 2SS 236,000,000 = 14! 236,000
—s|W==E 100,230,000& = 14 100,230
OF2HE XA 21,449,645
—2A20HE XNEHH 2% 44,100,000& = 14 44,100
—ALE=0I2 EE2E Y 50,000,000& = 14 50,000
Pl = R =N R 14,197,996,000& = 14! 14,197,996
—LoE20l H*HX 252,468,000 * 14! 252,468
—LOo=EXAE JsE2 54,449,000& » 14 54,449
— oI CIALE KT R 428,115,000& = 14! 428,115
—SENE Xl 54,000,000& = 14 54,000
—SHZQ AE2AC|AL DHAAE 221,871,000& * 14 221,871
—CHAEEMY (OISSEMUIAXIH)
300,000,000 * 14 300,000
—E8=8 MHIA 1,305,454,000& » 14 1,305,454
—OlSZ2EXE AXXSH 14,616,000 * 14| 14,616
—Ot=S= XAt IHAX & 80,514,000& 14 80,514
—OtsA XIS M2 1,710,000& * 14 1,710
—Ot0IS 201X 175,000,000& = 14 175,000
—eold JIs22d 15,000,000& » 14! 15,000
—O{glold 0/0I8 Ots2FXA 183,665,000& » 14 183,665
—O{HZ0HQ! AtSIE O ETHXIR 61,610,000& = 14 61,610
—ER0t ES=XE 3,590,583,000& 14 3,590,583
- IERE OtsdeXIEXE 930,000 * 14 930
—ggorseEs+glA 22,680,000& * 14 22,680
—XotsdE 2SHIX 220,512,000& = 14! 220,512
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—HAE YIS OIHHI0I2E XA 77,153,000 14 77,153
—0eols X& 97,219,000& » 14! 97,219
OMOt=S At 121,171
—ANZNHESMUE TGRS 222X
7,327,000& * 14 7,327
—ANZXASAHE OO X 17,518,000& * 14| 17,518
—IJISZHESASAIRL A OIAH]  80,726,000% * 14 80,726
—AL RN 15,600,000& * 14! 15,600
O=Zztol=1t 1,299,114
—=0HNE S MES 1,226,400,000& * 14l 1,226,400
— 232 SA2RRE 22| 3,013,000& * 14 3,013
—HEMNE EEZHIALXR 35,000,000& * 14| 35,000
—=AZ20F Ol=ZAb XIEA 34,701,000 » 14! 34,701
Ot &t it 3,725
—CtABIAS =14l 400,000& * 14 400
—AZotE MY =T 470,000& * 14 470
—ASUHM2ACHI 2T AIE= 835,000& * 14 835
—HE0AEANESIH ME2teld &St
2,020,000 * 14 2,020
OH& 473,000
—IFHAAMNHEMKZ (2R MM ZASTSEXIXR)
6,000,000& * 14 6,000
— KU X BAAS 467,000,000& * 14| 467,000
O=Metd 1t 1,981,400
—IEER SSHeAANE(XEHIASEHH)
1,300,000,000& = 14 1,300,000
—SESEMEFEA(SST)ANERE 20,000,0008 » 14l 20,000
—JI=H3 HOtAIE =X 100,000,000& = 14 100,000
—SEHHE =HEd=s 19,400,000& * 14| 19,400
—HENAZE AEEXR 500,000,000 * 14 500,000
—Zd0lE MelX& 22,200,000& * 14 22,200
—OlMESES ToHolEA 13,800,000& * 14| 13,800
—EAEOIEN 2 6,000,000& * 14 6,000
O&td =Xt 2,704,645
—IFdL 12,000,000& * 14 12,000
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0z

o282 0l ey

K& 2,500,000& 14! 2,500

e 23,309,000& * 14 23,309

SZHIXA 1,555,000& * 14 1,555

8,320,000 * 14! 8,320

40,250,000& = 14 40,250

R OJIHEE Y 750,0002 * 141 750

SIPARE! 77,988,000 * 14 77,988

58,695,000& » 14 58,695

e 133,640,008 * 14 133,640

181,398,000& » 14! 181,398

44,118,000& » 14 44,118

1,178,816,0002 * 14 1,178,816

10,000,000& * 14 10,000

8,000,000& = 14l 8,000

117,906,008 * 14 117,906

800,000,000& = 14! 800,000

5,400,000& = 14 5,400

9,265, 126

300,000,000& = 14 300,000

2 SEEAA 570,000& = 14 570

=P 3,537,0008 * 141 3,537

H2UsXA 1,239,000& * 14 1,239

2 d=sH B 2,100,000& = 14l 2,100

690,000,002 * 14 690,000

ZHIAML 700,000,000& = 14 700,000

—O0tSC=2 2xotd IR AL 3,079,236,000& = 14 3,079,236
(B AST AR

480,000,000& * 14 480,000

A& 675,000& * 14! 675

2 =AY 4,000,000,0002 * 141 4,000,000

g8 ¢ Fdl 5,950,000& = 14l 5,950

1,497,000& * 14 1,497

302,008 * 14 322

6,000
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09 e 0

(S5l : &2
L83 0 & 24 & 0] A o {imE=ET
M 3,857,520,0008 * 141 3,857,520
—y2 2p2lHl) 2,000,0002 * 14! 2,000
LI 2,000,000,0008 * 141 2,000,000
—EAEANSY YK X 297,623,008 * 14} 297,623
~NETLY H2NE 423 7,500,0002 * 141 7,500
—XoiSs SIS AANA 5,000,002 * 14 5,000
—HEYsY 117,000,008 * 14} 117,000
—E LA 649,772,008 * 14| 649,772
=EE EY 5,000,008 * 141 5,000
EEE 2,500,0008 * 141 2,500
=1 1,135,425
348,005,008 * 14 348,005
85,500,000 * 14! 85,500
640,000,008 * 14} 640,000
31,920,000 * 14! 31,920
25,000,0002! * 14! 25,000
Z) 5,000,0002 * 14] 5,000
) 199,880
— NS OSSN (SHES HLIIS3)
11,880,008 * 14 11,880
—ANERAHHT OIBESSHNA(HHNRL NLSI)
8,000,0002 * 14! 8,000
—APCAZHE Al DER & RSHH)
180,000,008 * 14} 180,000
737,000
= 441,000,008 * 14} 441,000
| 296,000,008 * 14} 296,000
EEPEES 24,016,329 25,085,858| 1,969,529
24,016,329 25,085,858| 1,969,529
24,016,329 25,085,858| 1,969,529
1,000,000
ZARE 2RI
1,000,000,0002! * 14! 1,000,000
150,000
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—ANZEALE SEANEHES(SSE2ESE ANLES)
150,000,000& 14 150,000
O=ztol=1t 6,000,000
—248Xecl 2aF2 1,000,000,000& 14 1,000,000
—SAAFY 2 LENE 500,000,000& * 14 500,000
—gt==3} HIOHI3 4,500,000,000& * 14 4,500,000
Ot &t 1t 1,193,000
—AMALSZ ESMHESEZ &4
1,000,000,000& = 14 1,000,000
—SRUSH 22343Me & SS0HHE
193,000,000& = 14 193,000
OS AICIRFOI 1t 1,771,000
—CAFHEZNEA (LIS AU ENL AL )
1,771,000,000& = 14 1,771,000
oAt 9,618,000
—WSADR2R LA 625,000,000& * 14 625,000
—AAHANISSE &I 2,252,000,000& * 14 2,252,000
—JIASEAZ ST (LLtsa EINY)
350,000,000& = 14! 350,000
—SEMEEHAIHI(LELsHENY)  897,000,000& * 14l 897,000
—2IIBHEHI (s 01 Y18 EHl) 2,103,000,000& * 14 2,103,000
—AR0SRE & THHY 735,000,000& » 14! 735,000
—FEE27X HEAY 950,000,000 * 14 950,000
—SHATHA SEEU 956,000,000 * 14 956,000
—tMstE I GAY 750,000,000& * 14! 750,000
OnsdHd 150,000
—HE0Es 2 HEAY 150,000,000& 14 150,000
Odtd =X 235,329
—AEMHIA SMEERL (=2 =42el)
30,000,000& * 14! 30,000
—Yeel 15,639,000& * 14| 15,639
—dEE= 39,690,000& * 14! 39,690
—XNXH SAl=xd 150,000,000& = 14 150,000
OMet2tel 300,000
—HOI 238 BY2EH 300,000,000 * 14 300,000
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Z: 500 EX3
2 510 = 0ExSS
gt 511 =12 X3S (cte: &<
g2 Off &k 2K S & Off &4 Blunsz
OsglIsdH (sE =1 1,520,000
—sSMsZEHE 0224 200,000,000& = 14! 200,000
—SOZHBE X (SHENISSLLSXH)
200,000,000& * 14 200,000
— XA sLEINSIIEEES 20,000,000& * 14 20,000
—SEMASHAE(SAH) 375,000,000& 14 375,000
—SEAASAAH(SHAH) 125,000,000& * 14! 125,000
—AEBREE0 s+4A2 HX IHSXHF(sHESS AL
X&) 600,000,000& = 14| 600,000
O(sgllsdd)sEXc D 474,000
—SHYEH e B0l FHIAA 50,000,000& * 14 50,000
—sE22 ¥0t=54 25,000,000& = 14 25,000
—sSEXNE JIgtAI4 200,000,000& = 14| 200,000
—SEXNZZH 34,000,000& * 14 34,000
—NeEsg SdatAtg 165,000,000& * 14 165,000
O(sgllsdH)RS0HE 0t 400,000
—AERERN sUENZINSINE (sHENISE LY
SHXIE) 400,000,000& = 14| 400,000
O2=ZAtE A 1,205,000
—SEsSdESse(LesHENY)
969,000,000& = 14| 969,000
—ARE =T AIEHZAY 236,000,000& = 14! 236,000
511-03 JI= 3,514,663 4,061,911 NB4T7,248
SR 3,514,663 4,061,911 NB4T7,248
I8 ZAE > 3,514,663 4,061,911 NB4T7,248
OdHe4d3stE 46,000
—Ngesd fitel FEXE 46,000,000& * 14 46,000
Oy X2t 429,248
—Itd =845 29AE 31,653,000& * 14 31,653
—JtEEZHNH NS H XA 150,000& * 14 150
—U2sE 33 2 MESsNE 269,385,0003 » 14 269,385
—dZA06HA A=K 400,000& * 14] 400
—AZEN AEI2Y 1,500,000& = 14| 1,500
—ANzZEad 23E X 16,000,000& * 14 16,000
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A38
£38
g-&-g-5 Off &k 4

—ANZEAESHAELZLE X AIXIXI 2
19,440,000& * 14| 19,440
—ANZELESBEANEZIZ2 OS2I 2,800,0008 * 14| 2,800
—AZEa~E SENE MAR=E 39,600,000 * 14 39,600
—OISHdEsXY dAHEdE 3,600,000 * 14 3,600
—Hd=E SAAL U] 480,000 * 14 480
—d44 Sorelgs 5,200,000& * 14 5,200
—SRZIENE SFHIX 36,000,000& * 14| 36,000
—SRIIIE NS EEH 3,040,000 * 14| 3,040
O=stil= 1t 444,752
—SoHHIR M M X 161,520,000& » 14 161,520
— 23 WHLRAIALE 2= 61,400,000 * 14 61,400
—=2t Sg22dl A& 15,450,000 * 14| 15,450
— M AAAE FXl2te] 50,750,000& » 14 50,750
— SRS A HYl A=K 155,632,0002 * 14 155,632
2ot 534,815
— S ZHEAN EEAE 54,815,000& » 14 54,815

—GFAWAR S HEH2Z 100H2E ALY
200,000,000 * 14 200,000
—HSESHES> 250,000,000 = 14| 250,000
—dSes MEL20d:2Y 30,000,000& * 14 30,000
PN RS =T, 134,037
—AEZXHIRA AFE X 45,717,000& = 14| 45,717
— A2 E X =X = AR 66,240,000& = 14 66,240
—AzZ0EN Hs2sAE 22,080,000& * 14| 22,080
=M s D} 36,000
—Adll 2 HN=0 A= 36,000,000& * 14] 36,000
SAL(BAASL) 125,692
=t HEgABSTAY 3,000,000& = 14 3,000
—HEFEEXFAME 48,546,000 * 14 48,546
—0l=0t & ddd0laote 24| 15,000,000& * 14| 15,000
—HESUAOI S S AL & Bt0t2e 7,600,0008 = 14 7,600
—AdoE 2 JESAM 1,137,000& = 14| 1,137
—SROASZ LA 1,928,000& * 14 1,928
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6,634,000
1,050,000&
1,800,000
4,720,000&
31,777,000
2,500,000&

36,000,000&
660,000
10,000, 000&
63,490,000
37,255,000
105,250,000&
90, 123,000&
83,890,000
3,786,000
2,500,000&
47,924,000
2,331,000&
49,920,000&
10,777,000&
25,520,000&
450,000&
1,663,000
23,940,000&
87,468,000&
1,375,000&
376,000&
998,000&
3,708,000
4,003,000&
299,000&
1,200,000

oz oz oz Iz

1z

oz oz 2z Zz 2z = 2z Iz ¥z = 22 ¥z Zz = &z Iz z = & Iz &z = &z Iz

1z

6,634
1,050
1,800
4,720
31,777
2,500

738,406

36,000
660
10,000
63,490
37,255
105,250
90,123
83,890
3,786
2,500
47,924
2,331
49,920
10,777
25,520
450
1,663
23,940
87,468
1,375
376
998
3,708
4,003
299
1,200
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0 Bx2
0 =208x32S
1 28X 3S (o9 ®2
g-2-8.-5 Off &k 2K & & Off &K Blunsz
SIAHLSAFEEHAAMY 43,500,000& 14 43,500
IlsdE (s8==1) 599,720
= NFE ANESUHE ALY 560,000,000& = 14! 560,000
XolE el X 31,720,0008 * 14 31,720
—FTAME HIE =8 & 228X 8,000,000 * 14 8,000
IsdE(sEXNED) 33,084
A2SS BEHAFEXNEN At 22ldl 33,084,0008 * 14 33,084
JIsdH(FASAI 2N) 392,909
Nx2d NEXHA 3,000,000& = 14! 3,000
WII01E M (HEFEEH]) 56,295,000 * 14 56,295
A=SAFS A 37,914,000& » 14 37,914
2=X& 2| 47,000,000& * 14 47,000
At AE J1EE SHE ALY 75,450,000& » 14 75,450
—SNRKSANH 173,250,000& » 14 173,250
2X38 28,973,487 27,347,508 1,625,979
521 Al - SHIREZ3E 28,973,487 27,347,508 1,625,979
521-01 Al - SHIEEX3E 28,973,487 27,347,508 1,625,979
A 28,973,487 27,347,508 1,625,979
ALEL > 28,973,487 27,347,508 1,625,979
O=HloE 12,304,274
—ZH&g&aE 184,359
- ISJIE S E ALY 11,259,0008 * 14 11,259
AR EDIES AFEOREHIXIR ALY 3,750,0008 * 14 3,750
- MNEHIIES LAtel HEAMY 15,662,000 * 14 15,662
- RIS JPAAIEOHE RIR AL 6,937,000& * 14 6,937
- NSSSH EAelAe 146,751,000& = 14 146,751
2188 6,644
FLsitszz g2 A2 (FEsos Tz g
eIXt2H) 6.644,000& = 14| 6,644
— AR S Al 0t 2,061,717
- JbAREE S R0IME 8.246,000& * 14| 8,246
- SSSA dEMANA 1,650,000% * 14 1,650
- R ZMEEFSAH(LFS0)  30,590,0008 * 14 30,590
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& 500 EX3

2 520 Al,EHIBEXZ2S

81 521 Al SHIBEZS CORE

X-m-8-2 0] & o A 0f Ay HREZ
I =MSBEERSH(MAS0) 934,299,000 * 14 934,299
IO ZMESEAZH(ZF=HS0) 210,716,0008 * 14] 210,716
20 ZMBSHION(HAZHSO)
6,289,000& * 14 6,289

222X XA 7,992,000& » 14 7,992
SOEZ OO FAWE ALY 2,280,008 * 14! 2,280
CHHTZMHOISMMEEZE AKX 150,000& = 14! 150
- AESEHRNESA MEAHAHNS 14,175,000& * 14 14,175
ANBISTSEMEIA B2QAXA 11,754,002 * 14 1,754
AMELAZ R20E AHEEXE  1,764,0008 » 14 1,764
NEZZAY 58,956,000& » 14 58,956
L 8,318,008 * 14! 8,318
S B =N 59,457,000& = 14 59,457
ZO0Hots MEX = 18,925,000& * 14 18,925
NI SSA S N 1,213,0002 * 14 1,213
ORI EXRD| 2R 104,000& = 14 104
HOHI=X LAtel XA 13,203,000& * 14 13,203
CEOOIMEAE JSEY 28,650,008 * 14! 28,650
- H0e AKX 127,085,000& 14 127,085
ZOoHel o/ =ZHIX& 8,609,000 14 8,609
BONQIRHA St X2 140,002 * 14| 140
O HE R0 K & A 35,913,000& * 14 35,913
Sl 2SS (L) 81,351,000& » 14! 81,351
S HEYR HOIX 3,837,008 * 14! 3,837
NS ASI MBI A SERALS 19,714,000& * 14 19,714
N dye 234 X2 28,245,000& * 14 28,245
SHMEALISEY 122,640,0002 * 14! 122,640
StHAIMEIAIE A2 P2H 106,450,000& = 14! 106,450
- SHHIMEAIY 22 101,143,000& * 14! 101,143
BYISEH 7,859,008 * 141 7,859
Ol a8 X & 1t 2,630,827
IR EHAEA 2EAA 4,748,000& * 14! 4,748
IIE =AW 2 26X 19,0002 * 14! 19
ALIENALH2 S 13,230,000& 14 13,230
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& 500 BED
B 520 A, GHRESS
5 521 Al CHIEZXZ3ES (649 &2
Hop-8-2 0O &+ eSTELCIPNED Bz
AYBL0IS BE2UNY 25,000,0008 * 14! 25,000
p[ETR=T- I 709,900,0008 + 14! 709,900
LSS0l BIRHA 32,460,000 * 14! 32,460
SEoI=TAE JsRY 16,334,008 * 14! 16,334
- ol 2 AR K| 128,435,008 * 14 128,435
SE0H LT2IAY 16,200,0008 * 14! 16,200
CH28ts N& o MHEYSY 34,637,008 + 14 34,637
S04 O M B BH 2 AFIF I ALY 28,526,00021 * 14! 28,526
BEEEHHIA 372,806,0008 + 14! 372,806
SZATHA 22X 52,0008 * 14 52
OS2 X2 H B X2 1,879,00021 * 14! 1,879
OFS = X WAHIFA X & 10,352,0008 * 14! 10,352
ObS O A X & HI = 513,000 * 14! 513
OISOEEENN A2 1,080,0009! * 14! 1,080
- OtOI S 20| X/ & 22,500,000 * 14! 22,500
ENEBIEEES 4,500,0009 * 14! 4,500
O12I01™ 010l BOIS Y SAI 56,822,002 * 14! 56,822
Of &4 7 0 21 A 81 & 04 2 T X/ 2 4,621,000 * 14! 4,621
OM= ZANLS 83,0002 * 14 83
NS 1,022,581,0002 + 14! 1,022,581
ook IS OIS AR X2 X2 120,008 * 14! 120
YAOIS YFLLXH 2,916,008 * 14| 2,916
XSiOtSHE SHUIXIY 66,154,002 * 14! 66, 154
HAUS DSOS Y N 23,146,000 * 14! 23,146
SROIIENE FFHIX 2,700,008 * 14} 2,700
SR OIIEE DS Mt S| 228,0002! * 14! 228
012101 X 28,280,0002 * 14! 28,280
— MOtS EALD 6,921
CANRRRAZAHE TR SAR 22X
2,198,008 * 14| 2,198
CANZ2RRAZAME CUOIEIRS  4,723,0008 + 14 4,723
— 23501 1,111,526
2NH 28 24 157,680,0008 * 14 157,680
SuTel 23 129,000,008 * 14 129,000
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& 500 BED
2 50 A, CHIEE2ES
&: 521 Al - SHIEEZE (649 & 2
T 0 & 24 rSTEL=PNEEN timES
S METESEALE X 250,000,0008 * 14! 250,000
s olEHIN 11,100,0008 * 1Al 11,100
COMSSTEH O Are! 4,140,008 * 14! 4,140
EBATIEN 29 3,000,0008 * 14} 3,000
SUTHRRZ 0K 2 2,000,008 * 14 2,000
— M= 669,212
QM 3,600,0008 * 14 3,600
B2t ASTIRAY 2,997,008 * 14 2,997
RVEEEpTEEFE 2,496,002 * 14| 2,49
A0 A BE 15,300,0008 * 14! 15,300
CAEEHE SROIHEE P 224,000 * 14! 224
AR E L X2 22,208,008 * 14! 22,208
CARIAHIA £20| 11,747,008 * 14! 1,747
CAYANHIASMREL(2ZELBR)
9,000,008 * 14} 9,000
SO S M DB R 21,090,0002 * 14! 21,090
S SRITHHT) 2 81,629,008 * 14l 81,629
AHZ SR ALY 19,853,008 * 14! 19,853
ESIEb] 274,496,008 * 14! 274,496
= EIE 1,340,000 * 14! 1,340
SRS 3,402,0002 * 14| 3,402
ANSREXS 3,000,0008 * 14 3,000
- DI A T Y 2,400,002 * 14 2,400
NE IR 42,750,0008 * 14! 42,750
CARAENE TS 45,000,008 * 14! 45,000
ez e 102,900,008 * 14! 102,900
- GIS2Y HHIXHA 3,780,0002 * 14| 3,780
—THere ot 1,497,328
- DEOIY ALY 60,000,0008 * 1Al 60,000
CROFOOIBSIY BRAMA| 399,0002 * 14! 399
S 2=0/0F LS 1,061,002 * 14! 1,061
OIS NANENS DR 867,000 * 14! 867
I I N EIR=CE e R ,470,0002 * 14! 1,470
NN EELTTERE ST 90,000,0002 * 14! 90,000
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500 EX=
520 Al ,EHIEZXESS
521 Al - EHIE X3S

T 0O &+ o4 rSTEL=PNEEN =
- MENBHE T A AP 138,000,0008 * 14! 138,000
N RIETESE = DAE=E-T YR 210,000,0008 * 1Al 210,000
C RO E B HI A (S A STIIN LAY
192,000,008 * 14! 192,000
COEMEAA 2L 472,0008 * 1Al 472
- RATHHSI B XI T Rl AreS 800,000,0008 * 14! 800,000
ST QA Y H| 1,785,000 * 14! 1,785
W ELIEE VeSS 1,048,000 * 14! 1,048
DIkl 2| 2 A 226,0008 * 1Al 226
A=K X 7,000
CERUFAAY SRUMBEEA 7,000,0008 * 14 7,000
—HAA(LAAL D) 44,721
SEE 16,992,0008 * 14! 16,992
- DIS0I LA E A 0140t 2| 5,250,0008 * 14] 5,250
S ARAMOL £ 20| X R AL 5,308,0002 * 14 5,308
CHHEAIOIAZAL X BOIZR2l 2,660,0002 * 14 2,660
P E-ENCEEN 398,0002 * 14! 398
CEROPAYA T ALY 191,0008 * 14! 191
AR OL S H L BRI A 2,323,008 * 14 2,323
HAENDI 2 X 630,000 * 14! 630
S ESIEFPR= 1,416,0002 * 14! 1,416
- XIO§XI 2 2+2) 6] X 2 AFeS 9,533,008 * 14 9,533
—2AL (AL 2D 214,169
SABMEBAAE SBHUIA 10,800,0008 * 14! 10,800
AHATCURH 22l H A 198,0008 * 14l 198
S PYRAARY 3,000,0008 * 14 3,000
2OILE | A F AL 19,047,0008 * 14! 19,047
- 3eZelUNERY 11,176,008 * 14! 11,176
L OIo| X P E ALY 31,575,0002 * 14! 31,575
CLEHUSALRRIALN 27,037,000 * 14! 27,037
ol 2l M| X 29,360,0002 * 14! 29,360
AJi| B PHE 0] 2 2H2I ALY 750,0008 * 1Al 750
o8t X} o 2 HIXI R ALY 14,377,008 * 14! 14,377
- OOl =& X7 2 bl 2,331,008 * 14 2,331
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& 500 BEx3
2 520 Al,EHIBEXZ2S
&: 521 Al - GHIBE3S (cHol: w2
g2 0l ey & 0 4 o HIRE2
MRS 48,000,000& * 14l 48,000
A2DJ101Z M (HEZFHI) 16,888,000& * 14 16,888
ASHESN 11,374,008 * 14 11,374
AR 23| 14,100,000& = 14 14,100
A2BZ L HEEZF I 22,344 ,000& * 14 22,344
EALZ M4 B S B ALY 36,000,000 * 14] 36,000
StNeFsA 22,275,000 * 14 22,275
— SIS HEHS S0 55,164
NEAUHK BB S SN (SHBH |2 3)
3,564,000& = 14 3,564
CANSRANNAKOIBE S (UK HZAIL R D)
3,600,000& » 14! 3,600
MEQEZ0 S2MSHZE NEN(S0ENA=S
AAETIR) 48,000,000 * 14] 48,000
— SIS HEH (USRS D) 1,500
IS A IR (A=FHI) 1,500,000& * 14 1,500
—=E AL 186,000
SsHEDNSo=SFH| 32,000,000& * 14 32,000
SESYMBS AL (LS LOENL)
124,000,000& = 14 124,000
AR STAE AL 30,000,000 * 14} 30,000
OEHIExS 12,622,440
L EEEE 338,015
N aex xeize 2,520,0008 * 141 2,520
HFEHEIAEFE 27,000,000& = 14! 27,000
SAI|HAEARA 21,000,000& * 14 21,000
ST10HE Dol A K 2 4,277,000 * 14] 4,277
S3TZAY(01Y) 121,987,000& » 14! 121,987
MM ZAIE 6,031,000& = 14 6,031
JelE 10025 B3R 61,200,000 * 14] 61,200
EHL S AR AIHEESAS 32,000,000& = 1A 32,000
SA0Y &I |=AHS 2,000,000& = 14l 2,000
HATAME 2SS 50,000,000 * 14] 50,000
- 22AE0E ZI el K& 10,000,000& * 14 10,000
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& 500 EX3
2 520 Al,EHIBEXZ2S
81 521 Al SHIBEZS CORE
X-m-8-2 0] & o A 0f Ay HREZ
— SR E 191,000
SRNRXINYDEASAIE Hel X
21,000,008 * 14! 21,000
LEHAMA T X Z B A E = EHI 170,000,000& = 14l 170,000
—E2J/28 18,900
QIE| UMM bH I A 18,900,0002 * 14 18,900
— XbXI 8 & Dt 5,000
CoIoY ALK 4,000,000& = 14! 4,000
OIEFADI B R ALY 1,000,0002 * 14 1,000
— A2 = X2t 1,178,555
- dclAtgE 2EXR 1,800,000 = 14 1,800
IS0 N 2 M E 2 25,000,008 * 14! 25,000
ANZXHZOHIHO| AL AE K& 24,000,000& = 14 24,000
AtD DS AP T o RHAHE AL 12,500,000& * 14 12,500
WO BEHY 2202 5,000,002 * 14 5,000
ZOHQITHOIS RIS AHEIEI 2 S (012F)  18,484,0008 * 14 18,484
O AATHEAN L2 G 33,790,000& * 14 33,790
ANZHOHQZS =X 22 (012) 35,000,002 * 14 35,000
HOHCIHIIESAE2H(01Y) 31,500,000& * 14 31,500
S SHHEHSE(01Y) 18,135,000& * 14 18,135
EEZHONENAME 2 38,508,008 * 14! 38,508
ZONQIAESHHSIXIR (012) 21,565,000 * 14 21,565
A= Xl et st 1,333,000& » 14 1,333
AEI=T B S5AY 5,400,008 * 141 5,400
HFANQAANLESH(0]) 240,700,000& = 14 240,700
NAA=XNEAM2 SN 6,000,000& = 14 6,000
ZONIXIHASI HEBAILXIZXE 7,000,002 * 14] 7,000
FEOANZEEIXNA 4,320,000& * 14 4,320
HOHCIF2AHESAIE2H (01 ) 39,803,000 * 14 39,803
QST RS JISBUAL 9,253,008 * 14! 9,253
sotelss &SNS 5,194,000& = 14 5,194
N HSAMGSY 3,024,000& = 14 3,024
R OHQIME Al & 2 (012) 265,820,0002 * 14 265,820
HASE FAHSEMEAMG 10,800,000& * 14! 10,800
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- MTHAHIOIALY 30,000,000& * 14 30,000
P E-EL R 310,000,008 * 14 310,000
SXNE2SFME=(01Y) 90,000,000& * 14! 90,000
— 2L 0t 183,623
H2UE SALESY 7,500,0008 * 141 7,500
HEAE A2 K& 4,500,000& = 14! 4,500
CABESOYTC AU AAY & 012 H X
1,500,000& * 14 1,500
ASSN-LE M ZEHLEXXE 1,350,000& » 14 1,350
DHSAH AMESBIYX 3,880,0008 * 141 3,880
ZoHZHEA MHEEHS 893,000& = 14 893
St H Ois22 T3 150,000,000& = 14! 150,000
SAZEAM HHALET 4,000,000 * 14] 4,000
TAZ12ZES0HAE X 10,000,000& = 14! 10,000
— QI TH 2k 1t 565,244
clEE Ry 2,400,0008 * 141 2,400
Olstds22s 3,000,000& 14! 3,000
HEFHZNANMEH2S 8,200,000& = 14l 8,200
04 & 31 24 & 2 AL X XI & 5,400,0008 * 141 5,400
HeX2asdH2E 3,000,000& * 14! 3,000
OdEgsEz Idg=2dY 1,800,000& 14 1,800
HMIBUCCHBMSSERANNA 1,500,002 * 14] 1,500
TSSMIN HESsKE 91,604,000& = 14! 91,604
St OIE2EAM2 29X& 3,000,000& = 14l 3,000
DITAHB CA RUHIN 3,000,0008 * 141 3,000
NZE 283018 88X 170,000,000 * 14! 170,000
G AMADNIHENE HEXHA 30,000,000& * 14 30,000
NZMEUSS SSHIX2 5,000,0008 * 141 5,000
201225028 MEMSUS XA 20,000,000& * 14 20,000
AF0HEsE 24 30,000,000& * 14! 30,000
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& Bx3
2t 520 Al EHIEESS
g 521 Al - EHIEX=S (Bt &R
g-2-8.-5 Off &k o4 & & 0 Ak o4 Hlnsz
g AMUERE AMEEH] 30,000,000& » 14! 30,000
HENSUA2EXHA 11,550,000 *» 14 11,550
fEsSEFUE SusA 145,790,000& = 14 145,790
=Ml 3,255,000
Nee =2 Re1AH| 42,000,000& = 14 42,000
KNGS EZ AL 1,650,000,000& = 14 1,650,000
- THAEES sX2el 5,000,000% * 14 5,000
2B XGAE 135,000,000& * 14 135,000
SAESAMY 1,025,000,000& = 14 1,025,000
THoH Ol 2 <=2 Al & Z I 210,000,000 * 14 210,000
SIS I1 10,000,000& * 14 10,000
=g M=XZ&H| 66,000,000& » 14 66,000
MN==XIHE &bl 2,000,000 * 14 2,000
Ot Y2 s2XES 110,000,000& * 14 110,000
At 164,416
SSSEA HE ALY 63,000,000& = 14 63,000
-SESEIISUH2S (FMS A= 22 LX)
36,816,000& * 14| 36,816
HE X At=2tel K& 38,400,000 *» 14 38,400
Mees+d 24X 2,000,000 * 14 2,000
SEYNESHH LT ELZS R
20,000,000& * 14 20,000
OIS ZSldsH=2ds 600,000 * 14 600
OMSAEES 3,600,000& * 14 3,600
S 26,942
DHUSAA A 1,200,000& = 14 1,200
EPNERaES =S, 25,742,0008 * 14| 25,742
— & =X 170,314
Y22 2LIHRA 1,872,000& = 14 1,872
St E S 2 H 2! 2,000,000 * 14 2,000
MeESoE2 128l 8,319,000& * 14 8,319
AP S A H A EHA 1,200,000& = 14 1,200
-2 6,823,000% * 14 6,823
ST S ) 6,000,000& * 14 6,000
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& 500 EX3
Z: 520 Al,SHIBEX=S
B 521 Al CHIPEZE CORE
o282 0] &k o8 & 5 0] Ak o bl =2t
MoHHH A A SAEE LXK 3,000,000 = 14 3,000
—sgJ|sdH(s30+0) 1,083,013
LIPS E 14,916,008 * 14 14,916
IHAMZEZ X 255,000& * 14 255
SENCHSF3| Ao H 1,200,000& * 14 1,200
4He 23R Belels 600,002 * 14 600
SENECNHEUHS &I XI& 1,863,000& * 14 1,863
S S4-HEH A AsHI KA 1,500,000 * 14 1,500
SENCNENMADH TS 1,500,000 * 1A 1,500
HS4-HI R =M=z Z MO0l 3,000,000 = 14 3,000
StMA-H3| 3 HHESKIJ 1,500,000 * 14 1,500
DL YRIAIE 2,880,0002 * 14! 2,880
WSS ELHEIANY 2,400,000 = 14 2,400
ElStZ XTI X AIH 3,000,000 = 1A 3,000
SRR SHE LAY 3,000,0002 * 14] 3,000
DM S ZH XA 37,800,000& * 14 37,800
- AFSHAH DS 2 A X R 200,000,000& = 14 200,000
- =01 JE 20| X2 (012) 13,248,008 * 14 13,248
sE0s Ss=s4X2 9,600,000 = 14 9,600
LEsAHoMA=sY HlwHS 1,200,000& * 14 1,200
=0l QBT 6,048,0002 * 14! 6,048
st SIS X & (01) 100,800,000& * 14! 100,800
SHEXNG AIZ2AZR2Y 2L XA 4,800,000& = 14 4,800
SoIHEN 23X 21,708,000 * 1Al 21,708
s&EMal 2EE=2XA 463,500,000& * 14 463,500
- ASEEHAA 18,000,000& * 14 18,000
2S0/0I% SIHASSENY 16,800,008 * 14} 16,800
SHE 2SKA E=s4 55,200,000 = 14 55,200
FTACHSCEOZ MO | Bt =X & 56,700,000& * 1A 56,700
ODExsJie HeHED &1 30,000,000 * 14! 30,000
HAS? X HMAA 9,680,000 = 14 9,680
HSASYAIY 24014 S0l ool
315,002 * 14 315
—sgl|sdE(sEXT ) 399,495
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09 e 0

500 EX=
520 Al ,EHIEZXESS
521 Al - EHIE X3S

I 0l &k o4
- 2012858 S SNUM B=S ALY 13,236,00080 + 14 13,236
—sHII=dH(SM4SXI =) 438,861
- A DII0I1Z K IEX & 5,670,000 * 14! 5,670
- FSMSAHESHHEAKXR 3,000,000 = 14| 3,000
- SMES2EXE XA 6,300,000& * 14 6,300
EANSTUCHE AN & 2,400,0002 * 14! 2,400
S92 X2 15,360,000& * 14 15,360
IANSHAZHIXA 32,400,000& * 14 32,400
CASTHENIEIIIN 3,150,0002 * 14] 3,150
DNEEMH| MADIMBIIANEXA 6,480,000& * 14 6,480
- UHSHSANIIITNMBS 2 1,155,000& * 14 1,155
AR ST N R 6,000,0002 * 14] 6,000
OIME0ESAMLF LAY 3,000,000 = 14 3,000
Ael Xl M= IR A& 3,120,000& * 14 3,120
CRASS|AL 2,784,0002 * 14! 2,784
- HALSIEAZE LMK 1,260,000& * 14 1,260
- ASAEXEAY 43,680,000& * 1A 43,680
CEUDEWAAY 11,600,008 * 14} 11,600
- HEHOISHS MM A 11,340,000& * 14 11,340
S I AN 16,674,000& 14 16,674
BOBQMAOIMERAIAY IE  16,236,0008 * 14 16,236
- BRRTEIAY 798,000& * 14 798
SOFXI A AHOHE AL 11,040,000 * 14 11,040
S RHSS YA 13,890,008 * 14 13,890
- SFRIH AL 29,463,000& * 14 29,463
- oA StusAXEA 12,843,000& 14 12,843
- Dbl I X & 16,170,008 * 14 16, 170
2SI RHTHRIA 14,016,000& * 14 14,016
SMNSIHIIXTHA A 58,521,000& * 14 58,521
B Al A E 3| A 25 KT 2 12,573,008 * 14 12,573
IIEEHUE AR 24,598,000& * 14 24,598
A HHA 2L 5t 53,340,000& * 1A 53,340
— SIS HE (RS D) 849,863
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A: o600 KILHMUOXIZE %
2 610 2UHXL2
8 613 NN (S5 @
T 0 & 24 & & 0f b o HnE2
610 2N X2 3,000,000 3,000,000 0
SENERESIE 3,000,000 2,000,000 1,000,000
613-02 XIAMLIIZAl - 2 - TENSZ 4L 3,000,000 2,000,000 1,000,000
[ 2ers ) ] 3,000,000 2,000,000 1,000,000
<JIEAAE > 3,000,000 2,000,000 1,000,000
ONNLIIS 4+ ([Y) 3,000,000
—IEAYYN FEUHSICE ALDA
2,000,000,0008 * 141 2,000,000
—EJI2ANL ¥ TRHA 1,000,000,0008 * 14! 1,000,000




